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Polygons — Day

Hour:

J Coordinates of Quadrilaterals

Ex 1.) Using the axis below, sketch
square WXYZ with side lengths of
length c.

Ex 2.) Using the axis below, sketch ~ EX 3.) Using the axis below, sketch

Rectangle WXYZ that has the right triangle ABC with legs of
length ¢ and the width of b. length x and y .
¥

-

W __, (e

o > “Ta®

b )
%" =

Guidelines for
Placing Figures on
a Coordinate Plane

1. Use the origin as o vertex or center.

2. Ploce ot least one side of a pelygon on an axis.

3. Keep the figure within the first quadrant if possible.

4, Use coordinates that make computations as simple as possible,
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Now you practice:

PORY is a parallelogram.
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Polygons — Day
Name:

Hour:
Position and label each figure on the coordinate plane

Ex 4. Paralellogram KLMN

Ex 5. Rectangle ABCD with
with length a and height b.

the length twice the width.
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PROOF: Prove the following figure is a square.

a) Prove that the opposite sides are parallel. D(O 53) e
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b) Prove that consecutlve sides form right angles (are perpendicular).
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c) Prove that opposite sides are congruent. ‘T’i"’\,l"-i"‘\ ‘(’ . W\\\
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d) Prove that the dlagonals of a square are congruent.
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e) Prove that the diagonals of a square are perpendicular.
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